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(A) (FH) (AN) (FH)

R F & K i 774 5,496 7.377.475 H 4 5TH 3 6 2.329
#® 1TH = - - 6T H 2 18 X
2TH 25 191 190,185 /B 5 JII 1TH 17 137 151,145

3TH -~ — — 2TH 5 14 4.804

4TH 63 375 518,793 3TH 4 17 8,105

£ 1TH 14 170 199,338 4TH 2 5 X
2TH 21 216 217,824 En JI._1TH 8 60 60,882

3TH 12 46 36,050 2TH 4 22 13,480

4TH 17 92 127,324 3TH 4 11 10,855

5TH 11 91 152,752 ATH 2 3 X

6TH 7 35 24,345 5TH 1 6 X

7TH 7 41 82,627 &t == B 1TH 1 2 X

8TH 9 71 89,741 2TH 1 2 X

5 JIl., 1TH 7 44 34,355 3TH 2 4 X
2TH 3 17 40,257 ATH 4 26 63,810

3TH 15 193 379,647 o B 1TH 4 21 16,492

4TH 15 194 235,873 2TH 5 22885

5TH 9 65 119,781 3TH — — —

6TH 15 100 415,756 4TH 4 37 43,604

7TH 8 115 152,639 5TH 11 52 51,596

8TH 13 97 148,656 6TH 9 73 82,493

B 1TH 7 39 50,866 L Ik 1TH 5 102 153,420
2TH 9 49 28,772 2TH 4 52 115,975

3TH — - — 3TH 2 41 X

4TH 11 125 202,057 ATH 3 7 1,973

= F 1TH 17 128 110,623 5TH 4 25 24574
2TH 13 142 557,887 3] H B 1TH 2 4 X

3TH 28 120 92,173 2TH 1 11 X

4TH 24 198 243,265 3TH 1 19 X

5TH 15 146 241,790 ATH 3 14 16,555

4 1TH 11 32 33,159 5TH 2 14 X
2TH 6 20 13,851 E] H 1 1TH 1 1 X

3TH 5 16 17,676 2TH 2 5 X

4TH 7 27 40,377 3TH 5 32 19,560

5TH 6 12 3,273 E B 2 _ = ~

6T H 6 25 20,108 i3 & 1TH 12 131 256,222

H B 1TH 5 11 2,706 2TH 5 22 31,109
2TH 3 7 1,022 3TH 7 48 44,093

3TH 8 36 10,560 4TH 5 14 2,790

4TH 3 21 11,746 /N X H 1TH 9 61 48,754
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R & K

EXRAH

S
(A)

% N =) H A1 &8
i) T £ B & F
(A) (FH)
/N X HEH 2TH 3 124 77,832
3TH 6 26 104,551
7N AKX H A4TH 4 39 118,044
x H 1TH 3 18 7,898
2TH 1 61 55,319
3TH 4 16 14,997
A4TH 7 36 21,785
5TH — — —
6T H 1 2 X
7TH - - -
B4 EXH 1TH 4 10 3,313
2TH 7 40 52,245
3TH 5 14 11,169
4TH 5 21 31,647
* B & H 1TH 8 81 119,252
2TH 1 2 X
3TH 4 15 3,303
4TH 4 16 21,220
5TH 6 62 60,964
6TH 21 200 142,843
7TH 10 52 25274
8TH 14 104 130,526
9TH 15 106 95,940




